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000000000 O public class TestArrays { public static void
main(String[Jargs) {// 0 1020: 0000000000 int[]
arrayl ={2,3,5,7,11,13,17,19 }. int[]Jarray2. // O 300 : 0 0O O O
OO0 0O System.out.print("arrayl is ). printArray(arrayl).
System.out.printin(). // O 401 : array2(1 [ arrayl array2 = arrayl. //
(1 OJ array2 array2[0] = 0. array2[2] = 2. array2[4] = 4. array2[6] =
6.// 1 0 arrayl System.out.print("arraylis"). printArray(arrayl).
System.out.printin()./050: 0000000000000
int[][] matrix =new int[5][]. /060 .0 000000000
for (inti=0. 1 matrix[i] = new int[i]. for (intj = 0. j matrix[i][j] =1
*1.33/ 0700000 for (inti=0.1System.out.print("matrix[" i
"11s"). printArray(matrix[i]). System.out.printin(). } } public static



void printArray(int[] array) { System.out.print( for (inti=0.1// 0
00000 System.out.print(array[i]). /000000000
Oododod fal)System.out.print(","). }}
System.out.print(>). }}Ojdks.o0 D00 000 oodoooo
DO0000000000teString(array)l 00000000
0O OdeepToString(array)l D O 00000 odooodo
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java.util.Arrays.public class ArraysTester { private int[] ar. public
ArraysTester(int numValues) { ar = new intfnumValues]. for (int
1=0. 1ar[i] = (1000 - (300 1)). } } public int[] get() { return ar. }
public static void main(String[] args) { ArraysTester tester = new
ArraysTester(50). int[] myArray =tester.get(). /0 0 0 0O 0O O
int[] myOtherArray = tester.get().clone(). if
(Arrays.equals(myArray, myOtherArray)) { System.out.printin("J
OOoO0o0Oodaorr.}else{System.out.printin("U O O O O O
OooomMm.}y/00000d Arrays.fill(myOtherArray, 2, 10, new
Double(Math.PI).intValue()). myArray[30] =98.// U 0O U [
System.out.printin(*fO 000 O0O0OOOO..".
System.out.printin(Arrays.toString(myArray)).
System.out.printin(). // 0 0O O O Arrays.sort(myArray). // 0 U U
00000 OtoString() System.out.printin("UJ O O 0O O O O O
[ 00 ..."). System.out.printin(Arrays.toString(myArray)).
System.out.printin(). /0 00 O 0O OO O intindex =
Arrays.binarySearch(myArray, 98). System.out.printin("98 U I [
00O "index "0 O O O ™). String[][] ticTacToe = { {"X", "O", "O"},
{rfo", "X","X"} {"X","O","X"}}. //0 0 0O 0O O O O deepToString()



System.out.printin(Arrays.deepToString(ticTacToe)). String[][]
ticTacToe2 ={{"O","O", "X"}, {"O", "X", "X"}, {"X", "O", "X"}}.
String[][] ticTacToe3 ={{"X","O","O"}, {"O", "X", "X"}, {"X", "O",
"X"}. if (Arrays.deepEquals(ticTacToe, ticTacToe2)) {
System.out.printin("Boards 1 0 2 0 [J."). } else {
System.out.printin("Boards 1 L0 2 0 OO 0 ."). }if
(Arrays.deepEquals(ticTacToe, ticTacToe3)) {
System.out.printin("Boards 1 [1 3are I [1."). } else {
System.out.printin("Boards 1 [0 3are J [J [0."). } }} 100Test LI [
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